Commun. Fac. Sci. Univ. Ank. Series A<sub>1</sub> V. 41. pp. 85-91 (1992)

## ON THE CURVATURES OF THE PARALLEL HYPERSURFACES

GÖRGÜLÜ A.

Arts and Sci. Fac. Anadolu Univ., Eskişehir

(Received Dec. 9, 1991; Accepted April 2, 1992)

## ABSTRACT

In this paper, we have shown that if (n-2)-th mean curvature  $M_{n-2}$  of a hypersurface M is zero, then the sum of principal radii of curvatures of the parallel hypersurface Mr is constant. Secondly, we generalize a theorem of Bonnet which is for the parallel hypersurfaces in  $E^3$ , to  $E^n$ .

## 1. INTRODUCTION

In this section, we will give some fundamental definitions and theorems, which are necessary for the following sections.

Definition 1.1: Let M be an oriented hypersurface in  $E^n$ . Define a map f as follows:

$$\begin{split} \mathbf{f} &: \mathbf{M} \to \mathbf{E}^{\mathbf{n}} \\ \mathbf{P} &\to \mathbf{f} \left( \mathbf{P} \right) = \mathbf{P} + \mathbf{r} \mathbf{N}_{\mathbf{P}}, \end{split}$$

Where N is the unit normal vector field on M, which gives the orientiation of M, and r is a given real number. Then  $M_r = f(M)$  is a hypersurface in  $E^n$  and furthermore  $M_r$  is called a parallel hypersurface to M, in  $E^n$  [4].

Definition 1.2: Let M be a hypersurface in  $E^n$ . Let  $k_1, \ldots, k_{n-1}$  be the principal curvatures of M. Put

$$\begin{pmatrix} {}^{n-1} \\ s \end{pmatrix} \quad M_s = \sum_{\substack{l \ \leq \ i_1 < \ \cdots \ < \ i_s \ \leq \ n-l}} k_{i1} \ \cdots \ k_{is}, \ M_0 = l, \label{eq:mass_state_$$

We call  $M_s$  the s-th mean curvature of M [1]).

## A. GÖRGÜLÜ

**Theorem 1.1:** Let M and  $M_r$  be parallel hypersurfaces in  $E^n$ . If k is a principal curvature of M at P, in the direction of X, then k/(1 + rk) is the corresponding principal curvature of  $M_r$  at f(P) in the direction of  $f^*(X)$ , [4].

**Theorem 1.2:** Let M and  $M_r$  be parallel hypersurfaces in  $E^n$ . Then

$$H^r = \sum_{i=1}^{n-1} \frac{k_i}{1+rk_i}$$

and

$$\mathbf{K}^{\mathbf{r}} = \prod_{i=1}^{\mathbf{n}-1} \frac{\mathbf{k}_i}{1 + \mathbf{r} \mathbf{k}_i}$$

where  $k_i$ ,  $1 \le i \le n-1$ , denote the principal curvatures of M and H<sup>r</sup> and K<sup>r</sup> stands for mean and Gaussian curvatures of M<sub>r</sub>, respectively [2].

**Theorem 1.3:** Let M and  $M_r$  be parallel surfaces in  $E^2$ . If  $M \subset E^3$ . is a minimal surface (H = 0), then

$$\frac{1}{k_1^r} + \frac{1}{k_2^r} = 2r = \text{ constant},$$

where  $k_1^r$  and  $k_2^r$  denote principal curvatures of  $M_r$ , [3].

The following Theorem due to Bonnet.

**Theorem 1.4:** (Bonnet): Let M be a surface of constant positive Gauss curvature K with no umbilics. Let  $r_1 = \frac{1}{\sqrt{K}}$  and

$$r_2 = - \ rac{1}{\sqrt{K}}$$
 define parallel sents  $M_1$  and  $M_2$ , respectively.

Then,

i)  $M_1$  and  $M_2$  are immersions of M which have constant mean curvatures  $\sqrt{K}$  and  $-\sqrt{K}$ , respectively.

ii) If M is a surface with constant mean curvature H (non zero) and non-zero Gauss curvature, letting r = -1 / H yields a parallel set that is an immersion of M with constant positive Gauss curvature H<sup>2</sup>, [4].

# 2. GENERALIZATIONS OF THE THEOREM 1.3 AND THE THEOREM 1.4.

Theorem 2.1: Let M and  $M_r$  be parallel hypersurfaces in  $E^n$ . If (n-2)-th mean curvature  $M_{n-2}$  of M is zero, then

$$\sum_{i=2}^{n-1} \quad \frac{1}{k^{r_i}} = (n-1) \ r = constant,$$

where  $k^r{}_i, 1\leq i\leq n-1,$  denote principal curvature of  $M_r$  at the point f(P).

**Proof:** From the Defition 1.2, (n-2)-th mean curvature  $M_{n-2}$  of M is

$$\begin{pmatrix} n-1 \\ n-2 \end{pmatrix} \quad M_{n-2} = \sum_{\substack{1 \le i \ 1 < \cdots < i_{n-2} \le n-1}} k_{i_1} \cdots k_{i_{n-2}}$$
$$= \sum_{i=1}^{n-1} k_1 \cdots \hat{k_i} \cdots k_{n-1}$$

or

(n-1) 
$$M_{n-2} = \sum_{i=1}^{n-1} k_1 \dots \hat{k}_i \dots k_{n-1},$$

where the symbol  $\land$  means that the term is omitted. On the other hand, by the Theorem 1.1. we have

$$\mathrm{k}^{\mathrm{r}}{}_{\mathrm{i}}=~rac{\mathrm{k}_{\mathrm{i}}}{1+\mathrm{r}\mathrm{k}_{\mathrm{i}}}$$
 ,  $1\leq\mathrm{i}\leq\mathrm{n-l}$  .

Now, we can show that,

$$\sum_{i=1}^{n-1} \frac{1}{k^{r_{i}}} = \frac{\sum_{i=1}^{n-1} k_{1} \dots \hat{k}_{i} \dots k_{n-1} + (n-1) r \prod_{i=1}^{n-1} k_{i}}{\prod_{i=1}^{n-1} k_{i}}$$

Since,

$${\overset{n-1}{\overset{\Sigma}{\underset{i=1}{\Sigma}}}} k_1\,\ldots\, {\boldsymbol{\hat{k}}}_i\,\ldots\, k_{n-1}=0$$

thus, we get

$$\sum_{i=1}^{n-1} \frac{1}{k^{r_i}} = \frac{(n-1) r \prod_{i=1}^{n-1} k_i}{\prod_{i=1}^{n-1} k_i}$$

$$=$$
 (n–1) r  $=$  constant,

as desired.

Special case, n = 3: In this case, we find that,

$$\sum_{i=1}^{2} \frac{1}{k^{r_{i}}} = 2\mathbf{r} = \text{constant}$$
, which is the same as the Theorem 1.3.

Theorem 2.2: Let M and  $M_r$  be parallel hypersurfaces, in  $E^n$ . Let  $M_i$ ,  $1 \le i \le n-1$ , i-th constant mean curvature of M. If the following relation

$$\sum_{i=2}^{n-1} {n-l \choose i} \ \ (i{ ext{-}1}) \ \ r^i \ M_i = 1,$$

among the i-th mean curvatures of M holds then, the mean curvature  $H^{r}$  of the hypersurface  $M_{r}$  is equal to constant (1/r).

•

**Proof:** From the Theorem 1.2, we can write

$$\mathrm{H^r}={\begin{array}{*{20}c} \Sigma \\ \Sigma \end{array}}{\begin{array}{*{20}c} -1 \end{array}}{\begin{array}{*{20}c} -k_i \end{array}}{\begin{array}{*{20}c} 1+rk_i \end{array}}$$

On the otherhand, one can easily show that

$$\sum_{i=1}^{n-1} \frac{k_i}{1+rk_i} = \frac{1}{r} \begin{bmatrix} -1 + \sum_{s=2}^{n-1} r^s (s-1) \sum_{1 \le i_1 < \ldots < i_s \le n-1} k_{i_1} \dots k_{i_s} \\ 1 + \frac{s^{-2}}{1+\sum_{s=2}^{n-1} r} \sum_{1 \le i_1 < \ldots < i_s \le n-1} k_{i_1} \dots k_{i_s} \\ s^{-2} - 1 \le i_1 < \ldots < i_s \le n-1 \end{bmatrix}$$

Since,

$$\binom{^{n-1}}{_s} \quad M_s = \sum_{\substack{i \ \leq \ i_1 < \ \ldots \ < \ i_s \ \leq \ n-l}} k_{i1} \ldots \ k_{is} \ .$$

So we have the following,

$$\mathrm{Hr} \;=\; rac{1}{\mathrm{r}} \left[ egin{array}{c} -1 \;+\; \sum {s=2}^{\mathrm{n-1}} \mathrm{r}^{\mathrm{s}} \; (\mathrm{s}{-1}) \; \left( egin{array}{c} \mathrm{n}{-1} \\ \mathrm{s} \end{array} 
ight) \, \mathrm{M}_{\mathrm{s}} \ -1 \;+\; \sum {s=1}^{\mathrm{n-1}} \mathrm{r}^{\mathrm{s}} \; \left( egin{array}{c} \mathrm{n}{-1} \\ \mathrm{s} \end{array} 
ight) \; \mathrm{M}_{\mathrm{s}} \end{array} 
ight]$$

From the hypothesis

$$\sum_{s=2}^{n-1} {\binom{n-1}{s}} (s-1) r^{s} M_{s} = 1,$$

So we get

$$H^r = \frac{1}{r}$$

which completes the proof.

Special case, n = 3: In this case,

$$\sum_{i=2}^{2} {\binom{2}{i}} (i-1) r^{i} M_{i} = 1$$

or

$$r^2 M_2 = 1$$

From that, we obtain

$$\mathrm{r} = \pm \; rac{1}{\sqrt{\mathrm{M}_2}} \; \; .$$

Thus,

$$egin{array}{rl} \mathrm{H}^{\mathrm{r}} = & rac{1}{\mathrm{r}} \ & = \pm \sqrt{\mathrm{M}_2} \end{array}$$

On the otherhand, from the definition of  $M_2$  we know that

$$M_2 = k_1 k_2 = K$$
.

So we get

$$H^r = \pm \sqrt{K}$$

that is to say;

If 
$$r = \frac{1}{\sqrt{K}}$$
, then  $H^r = \sqrt{K}$ 

and

If 
$$\mathbf{r}=-rac{1}{\sqrt{\overline{K}}}$$
, then  $\mathrm{H^r}=-\sqrt{\overline{K}}$ .

This gives us the Theorem 1.4. (i).

**Theorem 2.3:** Let M and  $M_r$  be parallel hypersurfaces in  $E^n$ . Denote  $M_i$ ,  $1 \le i \le n-1$ , for i-th constant mean curvatures of M. If the following relation

$$\sum\limits_{i=1}^{n-2} ~{n-1 \choose i} ~\mathbf{r}^i ~ \mathrm{M_i} = -1,$$

among the i-th mean curvatures of M holds then, the Gaussian curvature  $K^r$  of the hypersurface  $M_r$  is equal to  $1/r^{n-2}$ .

**Proof:** From the Theorem 1.2,

$${
m K}^{\,r} \,=\, \prod_{i=1}^{n-1} \; {k_i \over 1 \,+\, r k_i} \;\;.$$

On the otherhand, we can calculate that

$$\prod_{i=1}^{n-1} \frac{k_i}{1+rk_i} = \frac{\prod_{i=1}^{n-1} k_i}{1 + \sum_{s=1}^{n-1} r^s \sum_{1 \le i_1 < \ldots < i_s \le n-1} k_{i_1} \ldots k_{i_s}}$$

•

Since,

$${n-1 \choose s} M_s = \sum_{\substack{1 \leq i_1 < \ldots \ < i_s \leq n-1}} k_{i_1} \ldots k_{i_s},$$

So we can write that,

$${
m K}^{
m r}=rac{{
m M}_{
m n-1}}{1+\sum\limits_{s=1}^{
m n-2}{{n-1} \choose s}~{
m r}^{s}{
m M}_{
m s}+~{
m r}^{
m n-1}~{
m M}_{
m n-1}}$$

From the hypotehesis,

90

$$\sum\limits_{i=1}^{{
m n}-2} {{n-l}\choose i} \ {
m r}^i \ {
m M}_i = -1$$
 .

Thus,

$$\mathrm{K}^{\mathrm{r}}=~rac{1}{\mathrm{r}^{\mathrm{n}-1}}$$
 .

So we obtain the desired equation.

Special Case, n = 3: In this case, from the hypothesis,

$$2rM_1 = -1$$

or

$$\mathbf{r} = - \frac{1}{2M_1}$$

On the otherhand, since

$$2\mathbf{M}_1 = \mathbf{H}$$

we have

$$r = - {1 \over H}$$
 .

Thus, we find the following result,

$$\mathbf{K}^{\mathbf{r}} = \frac{1}{\mathbf{r}^2}$$
$$= \mathbf{H}^2$$

which is the same as Theorem 1.4. (ii).

### REFERENCES

- [1] CHEN, B.Y., (1973) Geometry of Submanifolds, Marcel Dekker Inc. New York.
- [2] GÖRGÜLÜ, A., (1985) Relations Between The Higher Curvatures of the Parallel Hypersurfaces, Journal of Karadeniz Univ. Fac. of Arts and Sci. series of Maths. Physics Vol: VIII.
- [3] HACISALİHOĞLU, H.H., (1983) Diferensiyel Geometri, İnönü Üniversitesi Yayınları.
- [4] HICKS, NOEL, J., (1965) Notes on Differential Geometry, Van Nostrand Reinhold Company London.